

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

05210908 Letting:

September 08, 2021 02:00

Call Order: 006

Contract: E5V54

PM

District: District 5 Counties: VOLUSIA

Fed Aid No: N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 42798617226 (*)

Contract Desc: Drainage Repair

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Winning bid	\$2,299,231.65	100.00%
2	LMR CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$2,430,913.50	105.73%
3	LANZO CONSTRUCTION CO FLORIDA	Responsive	Non-Winning Bid	\$2,566,163.00	111.61%
4	NUPIPE LLC	Responsive	Non-Winning Bid	\$2,823,156.20	122.79%
5	INSITUFORM TECHNOLOGIES LLC.	Responsive	Non-Winning Bid	\$2,997,116.30	130.35%
6	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$4,058,134.76	176.50%
7	GULF COAST UNDERGROUND LLC	Responsive	Non-Winning Bid	\$5,628,219.00	244.79%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 7

Letting:05210908September 08, 2021Call Order:006Contract:E5V54District:District 5Counties:VOLUSIAFed Aid No:N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 42798617226 (*)

Contract Descr: Drainage Repair

FDOT District 5

Proposal ID No. E5V54 Project No.: 427986-1-72-26

Fiscal Year: 2022

Counties: Volusia

Contract Calendar Days: 180 Lead Time: 14 Calendar Days

Intent:

The work under this Contract consists of storm sewer pipe lining, manholes repair and ditch cleaning & reshaping. All work is located within the existing stormwater system on SR 44 in Volusia County.

Experience:

For this contract, the Contractor is required to have at least three years of experience in the performance of Drainage Repair, or The Project Superintendent must have at least three years of like experience as a Superintendent. A Contractor that presently has a certificate of pregualification with the Department in "Drainage" will suffice to meet the above requirements.

	e No / Item ID n Description	Alternate	Quantity Units	(1) SHENANDO CONSTRUC		(2) LMR CONST	RUCTION, INC.	· · ·	ONSTRUCTION LORIDA
() ir	ndicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(I	_F			
0005 MOBIL	0101 1 IZATION		(1.000) LS	500.00000	500.00	1,950.00000	1,950.00	70,000.00000	70,000.00
0010 MAINT	0102 1 ENANCE OF T	RAFFIC	(180.000) DA (LS)	500.00000	500.00	30,000.00000	30,000.00	24,000.00000	24,000.00
	0120 10 21 I AND RESHAF WIDTH UP TO	PE DITCH, HAUL 15'	1,375.000 , LF	13.00000	17,875.00	5.50000	7,562.50	10.00000	13,750.00
0020 MANH	0425 2110 OLES, REPAIR		187.000 EA	195.00000	36,465.00	575.00000	107,525.00	700.00000	130,900.00





Tabulation of Bids

Page 2 of 7

Lettin	ng: 05	210908 Se	eptember 08,	2021 Cal	l Order: 006		Contract:	E5V54	
	e No / Item ID n Description	Alternate	Quantity Units	(1) SHENANDO CONSTRUC		(2) LMR CONST	RUCTION, INC.	· · ·	ONSTRUCTION ORIDA
() in	ndicates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (F	REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(I	_F			
0025 PIPE L	E431 121 INER, CURED I	N PLACE, 0-24"	9,402.000 LF	70.75000	665,191.50	73.00000	686,346.00	69.00000	648,738.00
0030 PIPE L	E431 122 INER, CURED I	N PLACE, 25-36'	6,111.000 LF	115.60000	706,431.60	115.00000	702,765.00	119.00000	727,209.00
0035 PIPE L	E431 123 INER, CURED I	N PLACE, 37-48'	2,958.000 LF	208.85000	617,778.30	190.00000	562,020.00	217.00000	641,886.00
0040 PIPE L	E431 124 INER, CURED I	N PLACE, 49-60'	553.000 ' LF	282.25000	156,084.25	365.00000	201,845.00	340.00000	188,020.00
0045	E431 1 25		308.000	319.50000	98,406.00	425.00000	130,900.00	395.00000	121,660.00
PIPE L GREAT		N PLACE, 61" AN	ND LF						
0001	REPAIR/REPLA SIDE-CROSS	ACE STRM- Sec DRAIN(LF)	tion Totals:	'	\$2,299,231.65	'	\$2,430,913.50 [']		\$2,566,163.00
		Contract Gran	nd Totals:		\$2,299,231.65		\$2,430,913.50		2,566,163.00



Page 3 of 7

Florida Department of Transportation



Tabulation of Bids

Letting	g : 05210908	September 08,	2021 Ca l	II Order: 006		Contract:	E5V54	
	No / Item ID Alterna Description	te Quantity Units	(4) NUPI	PE LLC	(5) INSIT TECHNOLO			PIPE SERVICES, LC
	dicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(REPAIR/REPL	ACE STRM-SIDE	CROSS DRAIN(L	_F			
0005 MOBILIZ	0101 1 ZATION	(1.000) LS	15,000.00000	15,000.00	183,390.00000	183,390.00	177,980.63000	177,980.63
0010 MAINTE	0102 1 ENANCE OF TRAFFIC	(180.000) DA (LS)	71,280.00000	71,280.00	53,945.00000	53,945.00	72,399.38000	72,399.38
	0120 10 21 AND RESHAPE DITCH, HA WIDTH UP TO 15'	1,375.000 UL, LF	33.00000	45,375.00	55.30000	76,037.50	189.49000	260,548.75
0020 MANHC	0425 2110 DLES, REPAIR	187.000 EA	1,375.00000	257,125.00	582.40000	108,908.80	778.45000	145,570.15
0025 PIPE LII	E431 1 21 NER, CURED IN PLACE, 0-2	9,402.000 24" LF	71.85000	675,533.70	92.50000	869,685.00	109.22000	1,026,886.44
0030 PIPE LII	E431 1 22 NER, CURED IN PLACE, 25	6,111.000 5-36" LF	146.00000	892,206.00	126.90000	775,485.90	169.37000	1,035,020.07
0035 PIPE LII	E431 1 23 NER, CURED IN PLACE, 37	2,958.000 7-48" LF	171.00000	505,818.00	224.10000	662,887.80	256.00000	757,248.00
0040 PIPE LII	E431 1 24 NER, CURED IN PLACE, 49	553.000 0-60" LF	354.50000	196,038.50	357.10000	197,476.30	704.62000	389,654.86
0045 PIPE LII GREAT	E431 1 25 NER, CURED IN PLACE, 61 ER	308.000 " AND LF	535.00000	164,780.00	225.00000	69,300.00	626.06000	192,826.48



09/17/2021

Tabulation of Bids

Page 4 of 7

Letting:	05210908	September 08,	2021 C	all Order: 006		Contract:	E5V54	
Line No / Item Descri		ite Quantity Units	(4) NUPIPE LLC		(5) INSITUFORM TECHNOLOGIES LLC.		(6) ATLANTIC PIPE SERVICES, LLC	
() indicates it	tem is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
0001 REPAIR	SECTION: 0001 (REPAIR/REP 0001 REPAIR/REPLACE STRM- Section Totals: SIDE-CROSS DRAIN(LF)			LACE STRM-SIDE-CROSS DRAIN(LF \$2,823,156.20		\$2,997,116.30		\$4,058,134.76
	Contract (Grand Totals:		\$2,823,156.20		\$2,997,116.30		4,058,134.76



Page 5 of 7

Florida Department of Transportation



Tabulation of Bids

Letting	g : 05	5210908 S	eptember 08,	2021 Ca	Il Order: 006		Contract:	E5V54	
	No / Item ID Description	Alternate	Quantity Units	(7) GULF UNDERGR					
() inc	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (REPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(L	.F			
0005 MOBILIZ	0101 1 ZATION		(1.000) LS	57,750.00000	57,750.00				
0010 MAINTE	0102 1 ENANCE OF TR	RAFFIC	(180.000) DA (LS)	796,950.00000	796,950.00				
	0120 10 21 AND RESHAP WIDTH UP TO	E DITCH, HAUL 15'	1,375.000 , LF	190.32000	261,690.00				
0020 MANHC	0425 2110 DLES, REPAIR		187.000 EA	2,625.00000	490,875.00				
0025 PIPE LII	E431 121 NER, CURED I	N PLACE, 0-24"	9,402.000 LF	162.75000	1,530,175.50				
0030 PIPE LII	E431 122 NER, CURED I	N PLACE, 25-36	6,111.000 b" LF	178.50000	1,090,813.50				
0035 PIPE LII	E431 123 NER, CURED I	N PLACE, 37-48	2,958.000 B" LF	315.00000	931,770.00				
0040 PIPE LII	E431 124 NER, CURED I	N PLACE, 49-60	553.000)" LF	525.00000	290,325.00				
0045 PIPE LII GREAT		IN PLACE, 61" A	308.000 ND LF	577.50000	177,870.00				



09/17/2021

Tabulation of Bids

Page 6 of 7

Letting:	05210908	September 08,	2021 C a	all Order: 006		Contract:	E5V54		
Line No / Item		ate Quantity Units	(/	F COAST ROUND LLC					
() indicates item	is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	

SECTION: 0001 (REPAIR/REPLACE STRM-SIDE-CROSS DRAIN(LF

0001 REPAIR/REPLACE STRM- Section Totals: \$5,628,219.00

SIDE-CROSS DRAIN(LF)

Contract Grand Totals:	\$5,628,219.00
	ı



09/17/2021

Tabulation of Bids

Page 7 of 7

Contract:

E5V54

Letting: 05210908 September 08, 2021 **Call Order:** 006

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.